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26 )
S26
S29
H2
H20 5402 H21 5403 H22 5397 H23 5416
H12 H20 220665 H21 224328  H22 216649  H23 211,710
H20 4,489 H21 4,703 H22 4,657 H23 5249
H20 12,623 H21 12160 H22 13268 H23 12,303
H20 55 H2l 63 H22 57 H23 40
31,200,000 0 0.0%
23
20 H21 H22 H23
1
| 0 0
19 19 19 19
| 1 1 1 1
19 19 19 19
| 0 0 0 0
23 25 35 45
20 20 20 20
42 44 54 64
0 0 0 0
653 2,250 4572 . 5421
22 21
A) 814,293 (1,445,930) 284020  (834,097)
(B) 1,051,579 (864,863) 173161  (729,697)
(A)-(B) 237,286 (581,067) 110,859  (104,400)
6,861 (21,508) 0 0)
0.00 (0.0) 178 (182) 0 0)
1005  (1014) 42561 (4,787.9) 109,805  (90,463)
26.8 (32.3) 5128  (5015) 38658  (38,779)
245 (38.8) 916  (912) 0 0)
216 (66.0) 02 (02 0 0
54.2 (74.4)
( 146433  (144,199)

110

15 16
16 6 17 17
16 17
18 17 (5
17
20 1 17
17 8 12
20 4
20 7
20 11
21
22 3 3
17 3 H17 H21
22 3 3 H22 H26
16
20




21 22 23
(A) 741,591 1,445,930 814,293
8,979 8,926 8,810
100,987 360,670 364,155
631,625 1,076,334 441,328
628,433 844,097 294,020
(B) 521,078 864,863 1,051,579
252,024 529,680 794,381
13,507 0 0
269,054 335,183 257,198
4,500 2,750 4,500
232,986 276,808 277,140
(C)=(A)-(B) 220,513 581,067 237,286
(D) 20,399 117,415 591,833
(E) 10,135 676,974 347,686
(F)=(D)-(E) 10,264 559,559 244,147
(G)=(C)+(F) 230,777 21,508 6,861
(H) 48,831 66,843 7,690
(D=(G)+(H) 279,608 45,335 829
8)) 242 594,041 621
(K) 765,953 2,955,898 3,491,413
(L=(A)+(K) 765,711 3,549,939 3,492,034
(M)=(G)+(J) 230535 615,549 7,482
(N) 764,789 2,922,089 3,537,639
(0)=(M)+(N) 995,324 3,537,638 3,545,121
1,291,806 1,743,736 1,696,855
1,067,168 1,498,923 1,438,289
17,159,174 17,739,563 18,178,422
31,200 31,200 31,200
17,127,974 17,708,363 18,147,222
18,450,980 19,483,299 19,875,277
27,597 36,420 39,869
23,942 33528 32,445
17,495,547 15,909,240 16,290,286
38,779 38,658 38524
144,191 106,948 110,622
17,523,144 15,945,660 16,330,155
927,837 3,537,639 3,545,121
927,837 3,537,639 3,545,121
18,450,981 19,483,299 19,875,276




